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INSTRUCTIONS TO CANDIDATES

You should have the following for this examination;
Anxwer boolles;
Drawing instruments;
Scientific calculator,
This paper consists of EXGHT questions in THREE sections; A, B and €.
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Answer FIVE questions choosing TWO questions from section A, TWO guestions from section B and

(NE question from sectfon €.

All questions carry equal marks.

Maximum marks for each part of a guestion are indicated.
Candidates should answer the gquestions in English.

This paper consists of 6 printed pages.

Candidates should check the question paper to ascertain that all
the pages are printed as indicated and that no questions are missing.
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- (b}  Figore 2 shows a masonry retaining wall supporting two layers of soils.
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Figure 2
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Destermine:; o
‘f.‘
(1) the resultant lateral force on the wall; e
(ii)  the distance of the point of application from the bottom of the wall.
(16 marks)

= A 150 mm thick reinforced concrete slab simply supported on 200 mm thick walls has
effective spans of 6.5 m x 3.0 m. Use the data provided below to design for bending only
and hence sketch the slab showing reinforcement details,
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SECTION C: CONCRETE TECHN - |
Answer ONE questi o ﬂlﬂ: Y

7. ia) State four factors that affect the productivity of concreting plants. (4 murks)
(b)  Describe the following types of concreting plants:
{1} trucker mixer;
{(ii)  ceotral mixing plant. {100 murks)
()  State three precautions to be ohserved when:
(i)  using a hoist as a lifting appliance;
{ii)y  transporiing wet concrete. {6 marks)
8. {a)  State four factors that influence the selection of concreting plant. (4 marks)
(b}  Determine the quantity of materials required per batch and probable output from a
concrete mixing plant of 1200 litres capacity. The design per 10000 litres of mixed
concrete 18 as follows:
5.6 bags of coment;
923 kg of coarse aggregales;
715 kg of sand;

195 litres of water;
fixing time = 115 seconds. - :
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